&H2

HET—RFN—T—2 3 VEREFE
S = RE | BE N7y B
J— x! f
E% ~ = 7 Ab | WS [ [ mavm | wEm [ o |
RHEE B1 1 150 4 4 4| 24x11 | 264
1018HE SR B1 1 90 2 2 2
HEIT—X
1028HE R B1 1 90 2 2 2| 15x11 | 165
1038HE = B1 1 90 2 2 2
201BHE = B2 |2 60 2 2 2
B : —fi¢FHER
2028HE = B2 |2 60 2 2 2
203BHEE B2 |2 60 2 2 2
HEIT—R 12x9 | 108
204BHEE B2 |2 60 2 2 2
2058 = B2 |2 60 2 2 2
206FHE = B2 |2 60 2 2 2
31 c1 1 60 2 2 2| 12x9 | 108
HEI—R
32 c1 1 30 1 1 0| 8x6 42
207HHEE cz2 |2 15 1
(BLO2EZ —
SeaE) 208FHEE cz2 |2 15 1 7x3.7 | 26
209BHE = cz2 |2 15 1
C : —REEHER 215882 c2 2 30 1 1 0
216BHEE cz2 |2 30 1 1 0
2TFHEE cz |2 30 1 1 0
HEIT—X 8x6 42
218BHE = cz2 |2 30 1 1 0
2195HE= cz2 |2 30 1 1 0
220BHEE cz2 |2 30 1 1 0
P RERER DO | Bl 24 1 1 0 114
BHEFHEE DO | Bl 16 1 1 0 63
) EBRBRE DO | Bl 36 1 1 0| 8x15 | 153 | #LE®E
D : BHPHER HEI—X
EYERRE DO | Bl 24 1 1 0| 9x13 | 124 | MAE
MIERBE D1 1 32 1 1 0| 8x13 | 119 | #EE
BHR - UEIERRE D1 1 18 1 1 0| 8x13 | 117
X H2BUAFHEE 1) (2) E1 1 120 2 2 2
E : tREUHHER HEIT—X
YNEYT—avEEE E1 1 60 2 2 2
HRYETHEE F1 1 48 2 2 2| 8x14 | 126
ZEMFEE ERER) F1 1 78 2 2 2| 8x24 | 292
TLFAFATE F2 |2 30 1 1 0| 9x18 | 171
E - F : 158 - ZRBHER HEIJ—X |ICTEEE F2 2 32 1 1 0| 11x12 | 149
RV aAUHHEE F2 |2 30 1 1 0| 11x17 | 210 | PC30&BH
HHE—THEE F2 |2 20 1 1 0] 8x12 | 111
HEE_BHEE F2 |2 44 1 1 0| 8x8 | 126
FiE - - - 15
&t 1,392 50 53 47




